Complete the following calculations using the data on page 359.

Imagine that it costs $300 to provide education, $400 to provide healthcare, and $200 to maintain and improve infrastructure to the people in Zambia. Imagine that the population is 2 million people. Imagine that they produce 1.7 billion lbs of copper. 

1) Define the words revenue, surplus and deficit.

2) How much revenue is needed per person?

3) How much revenue is needed for the entire nation?

Calculate the revenue in each year. Indicate whether there is a surplus or a shortage by circling the appropriate word, and calculate the value of the shortage or surplus.

1990 revenue _________________ 1990 surplus or deficit _________________

1991 revenue _________________ 1991 surplus or deficit _________________

1992 revenue _________________ 1992 surplus or deficit _________________

1993 revenue _________________ 1993 surplus or deficit _________________

1994 revenue _________________ 1994 surplus or deficit _________________

1995 revenue _________________ 1995 surplus or deficit _________________

1996 revenue _________________ 1996 surplus or deficit _________________

The price of copper fell in 1991. Provide a specific explanation related to supply.
The price of copper fell in 1992. Provide a specific explanation related to demand.

The price of copper rose in 1994. Provide a specific explanation related to supply.

The price of copper rose in 1995. Provide a specific reason related to demand.

Imagine that you are a government official in Zambia. In years of shortage, with a goal of maintaining the highest future GDP, what would you cut? Explain the effect of cutting each area on GDP and explain why the area you chose would be the least harmful
